International Journal of Sport Culture and Science

March 2020: 8(1)ISSN: 2148-1148Doi: 10.14486/ IntJSCS.2020.589



# The Correlation between Mental Toughness and Goal Orientation of Elite Wrestlers

## Ali Burak TOY<sup>1</sup>, Umut GÜNDOĞAN<sup>2</sup>, Emre Bülent ÖĞRAŞ<sup>1</sup>, Zarife TAŞTAN<sup>1</sup>, Mehmet Çağri ÇETİN<sup>1</sup>

<sup>1</sup>Mersin University, Faculty of Physical Education and Sports Science, Mersin, TURKEY <sup>2</sup> Youth and Sports Provincial Directorate, Mersin, TURKEY **Email:** aliburaktoy@hotmail.com

Type: Research Article (Received: 18.03.2020 – Corrected: ---- – Accepted: 24.03.2020)

#### Abstract

This study examined the correlation between mental toughness and goal orientation of elite wrestlers. A total of 50 wrestler (age=20.22±2.98) were participated in the study. In the study; "Task and Ego Orientation Scale in Sport Questionnaire" developed by Duda and Whitehead (1998) used to determine goal orientation levels. "Sport Mental Toughness Questionnaire (MTTQ)" developed by Sheard et. al (2009) used. Also, a personal information form used that prepared by the researchers. Descriptive, relational and comparative model were used in the article. In the analysis of the data, Spearman correlation coefficient was applied in the article. Also, Mann-Whitney U test used to comparisons. Wrestlers found a moderate negative correlation between age variable and control scores of the mental toughness scale (p<0.01). A positive correlation was found between task orientation scores of the goal orientation scale and the confidence (p<0.01) of the mental toughness scale and the continuum (p<0.05) scores. A low-level positive correlation was detected between the ego orientation score of the goal orientation scale and the confidence scores of the mental toughness scale (p<0.05). A significant difference was found between wrestlers age variable scores and control scores of the mental toughness scale (p<0.05). As a result, the correlation between mental toughness and goal orientation is important for elite athletes. As the age of elite wrestlers' increases, their concerns appear to increase in the face of unexpected or uncontrollable events.

Keywords: Mental Toughness, Goal Orientation, Wrestling, Elite Athlete



#### Introduction

In order for the athletes to compete at the elite level, they must demonstrate regular physical, technical and tactical development throughout the process. In addition, it is reported that athletes should not have physical and mental problems such as sports injuries and overtraining in order to reach high performance levels. (Maffulli et al., 2013; MacKinnon, 2000; Rugg et al, 2018; Uluöz, 2016a, 2016b). Athletes who reach the competition level, gain awareness that performance is not only affected by physical skill in a short time (Bhambri, Dhillon & Sahni, 2005).

Today's coaches and athletes realized the fact that the competition process is difficult, and the winning process fits within a narrow time frame although the athletes have technical, tactical and physical abilities. With the increase in the quality standards of the competitions and the increase in institutional expectations, the pressure on the athletes increased. However, the stress level of athletes also increased and psychological performance has become an important element of success in this field. According to Hardy, Jones and Gould (1996) and Weinberg (1992), athletes have increased their interest in how to cognitively strengthen to cope with these factors. They are focused on developing their psychological skills such as visualization, goal setting and relaxation, both to realize their potential and to increase their performance. Gould et. al (2002) showed that Mental Toughness is one of the basic elements of success in sports in their studies with Olympic champions. It has been determined that champions are successful in important psychological features such as stress management, Mental Toughness, self-confidence, and focus. Erdogan and Kocaekşi (2015), who reached the same results with this study, emphasized the importance of the presence of Mental Toughness in athletes. Jones, Hanton and Connaughton (2007) defined Mental Toughness as the ability to deal with negativity, stress, oppression, failure and misfortunes, avoid giving up and staying under stress. Thelwell, Weston and Greenlees (2005) described this concept as natural or developable. They emphasized that individuals with high performance in this regard have the ability to react positively to negative standards encountered in sports or different life conditions, to ignore the factors that cause distraction and to maintain calm in high pressure environments.

Mental Toughness often represents a number of psychological factors to be used to maintain successful performance in adverse environments (Clough et.al. 2002). It is an area with difficult conditions that includes many concepts such as stress, failure and problems in sports. For this reason, the Mental Toughness should be kept as high as possible in order to enable the athletes to perform high or to recover quickly after a difficult situation. Gould et. al (1987), reached the conclusion that the most important factor for success in 82% of the participants is Mental Toughness in their study conducted with wrestling coaches. However, Mental Toughness has been defined not only as a valid concept in negative situations, but also as a versatile concept (Crust, 2008). Weinberg and Gould (2015) found that the player who used the free throw at the last minute in a basketball game, believed that he had friends and family among the audience during the time-out and experienced the stress of this, was not accurate. In summary, cognitive and emotional factors are above the physical and technical sides of performance. In order to have strong cognitive skills, athletes must have high Mental Toughness values (Weinberg and Gould, 2015).

One of the concepts associated with Mental Toughness is goal orientation (task-ego orientation). Kuan and Roy (2007) evaluated the Mental Toughness they determined with the "Psychological Performance Inventory" according to the goal orientation (task-ego orientation) of the athletes. As a result of this study, they reported that the athletes with high



task and moderate ego levels achieved higher scores in the imagination, negative energy control, motivational control, positive energy control and attitude control sub-dimensions as a result of this study (Kuan and Roy, 2007). Similar to this study Kuan et. al (2007), conducted a study with 203 athletes, and results showed that athletes with high task-high ego and high task-medium ego orientation have high Mental Toughness scores. In this context, one of the concepts thought to have an impact on Mental Toughness is the goal orientation of athletes.

The pioneers of the goal orientation concept, Nicholls (1984) and Duda (1988) have focused on the cognitive dimension in this approach. In this context, the existence of two independent dimensions within the goal orientation in sports has been reported. In sport, the first goaloriented perspectives are *task-oriented goals*, and the second is *ego-oriented goals*. According to Duda and Nicholls, ego orientation; goals that refer to others in the sport, such as doing better than others (competitors or teammates), more attention (self-disclosure) and ranking higher than others (what they see as competitors).

Task orientation, on the other hand, expresses the goal orientation "one refers to himself", such as doing better than his previous performance, learning new things and mastering a task (Duda and Nicholls 1992). These two goal orientations are related to the skill level of the athlete (Toros and Yetim, 2000). Task orientation and ego orientation determine the goal orientation exhibited by the athlete to the extent that these dimensions are present in each athlete (Jagacinski and Nicholls 1984). In the athlete of two independent dimensions, task and ego oriented; goal high-ego high, goal high-ego low, goal low-ego high, goal low-ego low. Accordingly, the degree of having athletes' task and ego goal orientation requires a certain assessment of life and judgment (Toros, 2002). The individual, who has task-oriented goals, focuses on learning new skills and hard work (Toros, 2001). Task-oriented sportsman behavior tends to believe that talent will be demonstrated through development and effort (Murcia et. al., 2008). So in order to be successful, the athlete must work hard and make the best effort he can. At the same time, it is intuitive that a task-oriented athlete seeks a sense of inner satisfaction during the success process. This sense of satisfaction may be proportional to the amount of effort exhibited and the amount of development compared to the past (Toy, 2015).

An ego-oriented athlete believes that success can be achieved by proving his superior ability and defeating his opponents (Kocaeşki, 2010). These athletes want to be successful in demonstrating their abilities, the tasks to be accomplished, to demonstrate their ability, and to show how good others are (Elliot, 1999). The purpose of the behavior or movement applied by the athlete; show their own abilities associated with the abilities of others (Bruin, et. al. 2009). Ego-oriented behaviors to be carried out by the athlete in a work environment with high team concussion compared to ego-oriented behaviors can separate the athlete from the team, conflicts between other members of the team and the athlete may be expected, and even athletes with ego-oriented behaviors may be excluded. Athletes exhibiting ego-oriented behaviors may experience great traumas after finding their performance as failing in important competitions despite the conduct of rules or illegal behaviors and may even find excuses that can completely break away from sports (Toy, 2015). Task and ego-oriented goals can be said to be related to how the athlete judges (evaluates) his talent (Toy, 2015).

The interest of the researchers working in the field of sports psychology, which is one of the important issues, is that the goal orientation and mental toughness issues were examined in terms of the wrestling branch. In Turkey, the studies regarding mental toughness and goal orientation is discussed in terms of a limited number of sports. It is thought that the determined results will be beneficial for the researchers in this field.



### Materials and Methods

## Participants

The wrestler research group consists of elite athletes who are in the Istanbul metropolitan sport club and provide their economic livelihood from its sports club. The research group is composed of 50 wrestlers who were engaged in professional wrestling sport (located in the participating teams and national championships in Turkey) in Istanbul metropolitan sports club.

### **Research Model**

In this study; elite wrestlers' task orientation and ego orientations and Mental Toughness; differences and correlation were investigated by examining the variables of age, educational status, sports experience, and being elected to the national team. In this study were used descriptive, relational and comparative model.

In this study, demographic information form, Mental Toughness scale, and goal orientation scale were applied to freestyle and Greco-Roman wrestlers. Within the scope of the model; correlation tables for the Mental Toughness and goal orientation scales were prepared and interpreted. On the basis of the comparative model; the demographic data were tested to see whether there was a significant difference in the goal orientation (task orientation and ego orientation sub-dimensions) and Mental Toughness (control, confidence and continuity sub-dimensions) scales.

### **Data Collection Tools**

Data collection tools consist of following scales;

**1. Demographic Information Form:** This form includes the following information received from the wrestlers: Age, sports experience, educational status, and the status of being selected to the national team.

**2. Mental Toughness Scale: Mental Toughness Inventory in Sports:** To determine the Mental Toughness of athletes, Sheard et. al. (2009), and adapted to Turkish by Altintaş (2015). Inventory consisting of 14 questions determining the sub-dimensions of trust (1, 5, 6, 11, 13, 14), continuity (3, 8, 10, 12) and control (2, 4, 9, 7), and information about total Mental Toughness. In order to determine the level of participation in the questions asked in the inventory, a 4-point Likert-type (completely wrong, wrong, correct, completely correct) evaluation is made. The scale also includes reverse scored questions (2, 4, 7, 8, 9, 10) (Altintaş, 2015).

**3.** Task and Ego Orientation in Sport Questionnaire, – SGEYÖ (Task and Ego Orientation in Sport Questionnaire, Duda ve Whitehead, 1998) was developed by Duda and Nicholls in order to reveal individual differences in goal setting. Task and Ego Orientation Scale in Sport includes 13 items and 2 sub-scales in which the evaluation is made according to 5 levels. These subscales are; task orientation and ego orientation. The validity and reliability study of the scale for Turkish athletes was done by Toros (2001). In the study of Toros (2001), the Cronbach alpha value is 0.87 in the "task orientation" subscale. The internal consistency coefficient was found as 0.85 in the "ego orientation" subscale. In general, the reliability coefficient of the scale was determined as 0.86. (Toros, 2001).

## Data Analysis

22 packages in SPSS program were used to analyze the demographic data, goal orientation and Mental Toughness, which constitute the main variables of the research. It has been



checked whether the data was entered correctly or not. All variables were evaluated separately using the central distribution and variability criteria. Correlations between variables were examined by Spearman correlation analysis. Mann Whitney-U test was used in the comparison of two groups. The findings were interpreted in the light of theories and research in the literature.

#### Findings

 Variables

Variables		n	%
	20	20	560
Age	20 years and under	28	56,0
	21 years and above	22	44,0
Education Level	High School	22	44,0
	University	28	56,0
Experience Time	6 year and under	14	28,0
	7 year and above	36	72,0
National Team Level	Young National	35	70,0
	National	15	30,0

Table 1 shows the frequency analysis distribution for variables of age, education level, duration of experience and national team level.

**Table 2.** Descriptive analysis for Goal Orientation and Mental Toughness scales sub-dimensions.

Sub-dimensions			min.	max.	$\overline{\mathbf{X}}$	SD
	Goal Orientation	50	2,00	5,00	3,574	,768
Goal Orientation	Ego Orientation	50	1,50	5,00	3,308	,820
	Confidence	50	1,00	4,00	3,150	,676
Mental Toughness	Continuity	50	2,50	4,00	3,650	,426
	Control	50	3,00	4,00	3,630	,414

Table 2 shows the frequency analysis distribution for the task orientation and goal orientation, which are the sub-dimensions of the Goal orientation scale, and the confidence, continuity, and control sub-dimensions of the Mental Toughness scale.

**Table 3.** Spearman Rank Difference Correlation Analysis Results to Determine theCorrelation between Goal Orientation Scores and Mental Toughness Scores

n=50	Age	Education	Experience Year	Nationality Level	Task	Ego	Confidence	Continuity	Control
Age	1	,542** ,000	,553** ,000	,475** ,000	,074 ,609	-,115 ,427	,113 ,435	,059 ,682	-,368** ,009
Education	,542 <sup>**</sup> ,000	1	,704** ,000	,404** ,004	-,004 ,977	-,049 ,735	,004 ,977	-,018 ,902	-,245 ,086
Experience Year	,553** ,000	,704** ,000	1	,311* ,028	-,029 ,839	-,023 ,873	-,012 ,931	-,104 ,474	-,266 ,062
Nationality level	,475** ,000	,404** ,004	,311* ,028	1	-,105 ,470	-,215 ,133	,214 ,136	-,014 ,920	-,124 ,392

<b>(XX)</b> IntJSCS		Toy et al.,	Investigatior	n of			IntJSC	CS, 2020; 8(1	L):35-47
Confidence	,113 ,435	,004 ,977	-,012 ,931	,214 ,136	,471 <sup>**</sup> ,001	,322* ,023	1	,430** ,002	,104 ,471
Continuity	,059 ,682	-,018 ,902	-,104 ,474	-,014 ,920	,301* ,033	-,053 ,712	,430** ,002	1	,399** ,004
Control	,368** .009	-,245 ,086	-,266 ,062	-,124 ,392	-,175 ,223	-,180 ,211	,104 ,471	,399** ,004	1

In Table 3, as a result of the Spearman Rank Differences Correlation analysis conducted to determine the correlation between the variables, the scores between the age variable and education level, years of experience and nationality level shows statistical positive correlation level that is equal (p <.05). However, a negative correlation was found between age variable and control sub-dimension of mental Toughness Scale that is equal (p <.05). A statistically significant positive correlation was found between the Task orientation sub-dimension, which is the sub-dimension of the goal orientation, and the confidence and continuity sub-dimensions of mental toughness scale (p <.05). There was found a statistically significant positive correlation sub-dimension and confidence sub-dimension (p <.05). A statistically significant positive correlation was found between the confidence sub-dimension (p <.05). A statistically significant positive correlation was found between the confidence sub-dimension (p <.05). There was a statistically significant positive correlation between the continuity sub-dimension and the continuity sub-dimension (p <.05). There was a statistically significant positive correlation between the continuity sub-dimension and the continuity sub-dimension (p <.05). There was a statistically significant positive correlation between the continuity sub-dimension and the continuity sub-dimension (p <.05).

	Groups	n	X	Total Rank	U	р
Goal	20 Years and Under	28	24,55	687,50	281,500	,604
	21 Years and Above	22	26,70	587,50		
Ego	20 Years and Under	28	26,96	755,00	267,000	,422
-	21 Years and Above	22	23,64	520,00		
Confidence	20 Years and Under	28	24,07	674,00	268,000	,429
	21 Years and Above	22	23,72	601,00		
Continuity	20 Years and Under	28	24,79	694,00	288,000	,677
	21 Years and Above	22	26,41	581,00		
Control	20 Years and Under	28	29,88	836,50	185,500	,010*
	21 Years and Above	22	19,93	438,50		

Table 4. Goal Orientation Scale and the Mental Resistance Scale Scores

In Table 4, it was found that there is no significant difference in the task sub-dimension, ego sub-dimension, confidence sub-dimension and continuity sub-dimensions of the athletes by age variable. However, a significant difference was found between the control averages of athletes aged until 20 years old (includes 20 years old), and 21 years old (includes 21 years old) and older in terms of age variable (U=185.500, p<.05).



Table 5.	Difference	between	the	Goal	Orientation	Scale	and	the	Mental	Resistance	Scale
Scores.											

	Groups	n	$\overline{\mathbf{X}}$	Total Rank	U	р
Goal	6 Years and Under	14	26,18	366,50	242 500	027
Goal	7 Year and Above	36	25,24	908,50	242,500	,837
Eas	6 Years and Under	14	26,04	364,50	244 500	071
Ego	7 Year and Above	36	25,29	914,50	244,500	,871
C	6 Years and Under	14	25,79	361,00	248.000	020
Confidence	7 Year and Above	36	25,39	914,00	248,000	,930
Continuity	6 Years and Under	14	27,75	388,50	220 500	460
Continuity	7 Year and Above	36	24,63	886,50	220,500	,469
	6 Years and Under	14	31,21	437,00	172 000	0.62
Control	7 Year and Above	36	23,28	838,00	172,000	,063

In Table 5, was found that there was no significant difference in the task sub-dimension, ego sub-dimension, confidence sub-dimension, continuity sub-dimension and control sub-dimension scores of athletes according to years of experience (p>.05).

**Table 6.** Difference between the Goal Orientation Scale and the Mental Toughness Scale

 Scores According to the Level of Education

Education Level	Groups	n	$\overline{\mathbf{X}}$	Total Rank	U	р
	High School	22	25,57	562,50	206 500	077
Goal	University	28	25,45	712,50	306,500	,977
	High School	22	26,30	578,50	200 500	720
Ego	University	28	24,88	696,50	290,500	,732
	High School	22	25,43	519,50	206 500	076
Confidence	University	28	25,55	715,50	306,500	,976
	High School	22	25,77	567,00	202.000	001
Continuity	University	28	25,29	708,00	302,000	,901
	High School	22	29,20	642,50	226 500	000
Control	University	28	22,59	632,50	226,500	,086

In Table 6, there was no significant difference in the task sub-dimension, ego sub-dimension, confidence sub-dimension, and continuity sub-dimension and control sub-dimension scores of the wrestlers according to the educational status variable (p > .05).



Nationality Level	Groups	n	$\overline{\mathbf{X}}$	Total Rank	U	р
Goal	Young National	35	26,49	927,00	228,000	,464
	Senior National	15	23,20	348,00		
Ego	Young National	35	27,53	963,50	191,500	,132
	Senior National	15	20,77	311,50		
Confidence	Young National	35	23,50	822,50	192,500	,134
	Senior National	15	30,17	452,50		
Continuity	Young National	35	25,63	897,00	258,000	,919
	Senior National	15	25,20	378,00		
Control	Young National	35	26,59	930,50	224,500	,386
	Senior National	15	22,97	344,50		

**Table 7.** Difference between the Goal Orientation Scale and the Mental Toughness Scale

 Scores According to the National Athlete Category Level

In Table 7, was found that there was no significant difference in the task sub-dimension, ego sub-dimension, confidence sub-dimension, continuity sub-dimension and control sub-dimension scores of the athletes according to the Nationality level variable and the status variable (p>.05).

## Conclusion

Findings about the correlation between elite wrestlers' goal orientation and Mental Toughness scores were discussed within the framework of research purposes.

In the results of the research, a significant difference was found in the control sub-dimension of Mental Toughness scale according to the age variable of the wrestlers. According to the results of the binary group comparisons that made to determine between which groups the meaningful differences emerged as a result of the analyzes made; According to athlete groups between the ages of 21 and over, was found a significant difference in Mental Toughness levels that showed better results of athletes aged between 20 and under. However, in the control sub-dimension of the wrestlers' Mental Toughness scale, it is observed that their Mental Toughness levels decrease as their ages increase. Also, Crust et. al (2014) states that age is an important factor in determining the level of Mental Toughness that is in positive correlation with the results of our research. In contradiction with our research, Marchant et. al. (2009) and Nicholls et. al (2009) also found that Mental Toughness increases or decreases in by age factor. In another study, Crust (2009) found that there was no correlation between Mental Toughness and age factor. Gürer (2015) emphasized that characteristics of mountaineering sports, such as decision making and problem-solving skills, are important in a study. Accordingly, it can be said that the Mental Toughness scores decrease as the age factor increases, the athletes are not controlled and comfortable in sports that require intense physical and Mental Toughness, not being under pressure or unexpected conditions.

There was no statistically difference between the Mental Toughness sub-dimensions according to the duration of wrestling athletes' experience variable. In the study conducted by Dede (2019) can be observed similarity with the results of this paper research, it was found that there is no difference according to the experience period of elite wrestlers. However,



Crust (2009) found in his research that there is no correlation between Mental Toughness and duration of athletes' experience variable.

It was observed that the level of Mental Toughness of elite wrestlers did not differ from the nationality level variable. In contrast to the results of this paper research, Konter (2015) found that the results of his study with professional footballers show that footballers who cannot be selected to the national teams have a higher level of Mental Toughness than those chosen for the national team.

Considering the results of statistical analysis regarding whether the Mental Toughness levels of elite wrestlers differ according to their educational status; no statistically difference was found between subscales of Mental Toughness scale. Considering the literature, unlike the results in our study; Crust et. al. (2014) stated that education and Mental Toughness are in parallel proportion. In another study by Fisher and Hood (1987) revealed that the level of education should be increased in order to increase Mental Toughness.

There was no correlation between the ego and task orientation sub-dimensions (of the wrestlers participating in the research) and the age variable. This paper research found out overlap with the studies in the literature. In a study of 317 wrestlers, no difference was found between the age variable and goal orientation sub-dimensions of Freestyle and Greco-Roman style wrestlers (Toy, 2015). The paper written by Toros shows no difference between the ego and task orientation subscale of the elite and non-elite basketball players and the age variable (Toros, 2001). In another study written by Üngür was mentioned that there was no difference between the age variable and the goal orientation in the research results, which examined the correlation between goal orientation in amateur and professional football players (Üngür, 2009). In addition, there are studies that differ from this paper research results. Flores et. al (2008) observed a decrease in the perceptions of Colombian athletes perceptions of ego goal orientations, learning perceptions, and performance orientations in the physical education lessons and motivational climate perceptions (Flores, et. al 2008). In Flores research was found no difference between the goal orientation scores in terms of the experience level variable of elite wrestlers. When this paper research results are compared with the literature, there are similar and opposite results. In the research written by Toy (2015) mentioned that there is no difference between the task orientation sub-dimension of freestyle wrestlers and the experience variable of the ego orientation sub-dimension. However, there is a significant difference in terms of experience variable and task orientation subscale scores of Greco-Roman style wrestlers. In terms of freestyle wrestlers, there is no difference between experience variable and task orientation scores (Toy, 2015). In the research results by Üngür (2009), was found out that goal orientation has no effect on the variable of experience in amateur and professional football players (Üngür, 2009). However, Fernandes et. al. states that there is a positive correlation between Alpinist mountaineers' ages of sports experience and task orientation levels (Fernandes et. al. 2009). In another study by Toros is written that elite basketball players have a negative correlation between the athletes experience and their goal orientation, and as the age of elite athletes increased with their sports age, their ego orientation decreased. In non-elite athletes groups, mentioned that as the age of athletes experience increases, the task orientation increases (Toros, 2001). Under literature researching, Kristiansen et. al. (2008) stated that experienced wrestlers prefer the task orientation behavior, and they show a positive harmony towards staying and competing by maintaining their strategies to deal with stress (problem oriented and emotion oriented) (Kristiansen et. al. 2008). Basketball sportsmen research mentioned no observed differentiation in the task and ego orientations of elite and non-elite basketball players (Toros, 2001). Duda found out the conclusion that athletes with high task orientation (recreational)



Toy et al., Investigation of ...

continue their chosen sports (experienced winners) for a longer period of time (Duda, 1992). In another study, college and university athletes compared younger and recreational sports individuals stated that high school boys exhibit lower task orientation (White and Duda, 1994). So, there is no difference in terms of education level of elite wrestlers participating in the research. This paper research results correspond with the literature studies. In a comprehensive study conducted in 2015, there is no difference in terms of education level variable of Free style and Greco-Roman style wrestlers and ego orientation and task orientation scores (Toy, 2015). In the research results found out by Üngür of football players mentioned that educational status variable does not have an effect on goal orientation on amateur and professional football players (Üngür, 2009).

According to Toy (2015) there is no difference in terms of the nationality of elite wrestlers participating in the research. Although research works of similar papers are limited in the literature in this area, possible to observe matching in this paper results. By Toy paper (2015), there is no difference in terms of the nationality variable of Freestyle and Greco-Roman wrestlers and ego and task orientation subscale scores. Also, in Toy's paper mentioned no difference in Free style and Greco-Roman style. Also, there is no difference (in wrestlers in this paper research group) in term of nationality variable, ego and task orientation scores (Toy, 2015). According to Potgieter and Steyn, the task oriented athletes have better psychological resilience than ego oriented athletes in succeed or failure matches (Potgieter and Steyn, 2010).

As a result of this study is statistical positive correlation between the age variable of the wrestlers participating in the research and the level of education, years of experience and nationality. However, negative correlation was found between the age variable and the control sub-dimension. Statistical positive correlation was found between the task orientation sub-dimension, which is the sub-dimension of the goal orientation, and the sub-dimensions of Mental Toughness, the confidence and continuity sub-dimensions. Statistical positive correlation sub-dimension and the confidence sub-dimension. Statistical positive correlation was found between the confidence sub-dimension. Statistical positive correlation was found between the confidence sub-dimension and the continuity sub-dimension and the confidence sub-dimension and the continuity sub-dimension and the control sub-dimension.

So, results of this paper show that wrestlers who are younger have high control scores. It shows that younger wrestlers are worried about unexpected or uncontrolled situations. In other words the confidence of task-oriented wrestlers has increased and they have high expectations that they can overcome long-term hard situations.



# REFERENCES

Altıntaş, A. (2015). Sporcuların Zihinsel Dayanıklılıklarının Belirlenmesinde Optimal Performans Duygu Durumu, Güdülenme Düzeyi ve Hedef Yöneliminin Rolü. Sağlık Bilimleri Enstitüsü, Spor Bilimleri Anabilim Dalı, Doktora tezi, Ankara: Ankara Üniversitesi.

Bhambri E, Dhillon PK, Sahni SP. Effect of psychological interventions in enhancing mental toughness dimensions of sports persons. Journal Of The Indian Academy Of Applied Psychology. 2005;31(1-2),65-70.

Bruin, Karin. Bakker, Frank C. Oudejans, Raôul R, (2009). "Achievement Goal Theory And Disordered Eating: Relationships Of Disordered Eating With Goal Orientations And Motivational Climate İn Female Gymnasts And Dancers", Psychology of Sport ve Exercise, Vol.10, pp.72-79.

Clough P, Earle K., Sewell D Mental Toughness: The Concept and Its Measurement. In Cockerill I, Solutions in Sport Psychology. 1st ed. 2002, (p. 32-45). London: Thomson .

Crust, L. (2009). The relationship between mental toughness and affect intensity. Personality and Individual Differences, 47(8), 959-963.

Crust, L., Earle, K., Perry, J., Earle, F., Clough, A., & Clough, P. J. (2014). Mental toughness in higher education: Relationships with achievement and progression in first-year university sports students. Personality and Individual Differences, 69, 87-91.

Crust, L. A review and conceptual re-examination of mental toughness: Implications for future researcher\*/s. Personality and Individual Differences 2008, 45: 576-583.

Dede, Y. E. (2019). Elit Güreşçilerin Zihinsel Dayanıklılıklarının İncelenmesi (Master's thesis, Adnan Menderes Üniversitesi, Aydın)

Duda, Joan L, (1988). "The relationship between goal perspectives and persistence and intensity among recreational sport participants", Leisure Studies, Vol.10, pp.95-106.

Duda, Joan L, (1989). "Goal Perspectives, Participation And Persistence In Sport", International Journal of Sport Psychology, Vol.20, pp.42-56.

Duda, Joan L. John G Nicholls, (1992a). "Dimensions Of Achievement Motivation İn Schoolwork And Sport", Journal of Educational Psychology, Vol.84 pp. 290-299.

Duda, Joan L, (1992b). "Motivation in Sport Setting: A Goal Perspective Approach, In Roberts", Motivation in Sport and Exercise, Champaign, Illinois:Human Kinetics, pp. 57-91.

Erdoğan N, Kocaekşi S. Elit sporcuların sahip olması gereken psikolojik özellikler. Turkiye Klinikleri Journal of Sports Sciences. 2015;7(2), 57–64.

Fernandes, H. M. Rodrigues A. D Lázaro J. Vasconcelos-Raposo J, (2009). "Characterization of the negativism, activation, self-confidence and cognitive orientations levels of alpinists", Motricidade, Vol. 5, Num. 2, pp.63-86.

Flores, Jairo. Salguero Alfonso. Márquez Sara, (2008). "Goal orientations and perceptions of the motivational climate in physical education classes among Colombian students", In Teaching and Teacher Education, Vol.246, pp.1441-1449.

Fisher, S., & Hood, B. (1987). The stress of the transition to university: a longitudinal study of psychological disturbance, absent-mindedness and vulnerability to homesickness. British journal of psychology, 78(4), 425-441.



Gould D, Dieffenbach K, Moffett A. Psychological characteristics and their development in Olympic Champions. Journal of Applied Sport Psychology. 2002;14(3),172-204.

Gould D, Hodge K, Peterson K, Petlichkoff L. Psychological foundations of coaching: Similarities and differences among intercollegiate wrestling coaches. The Sport Psychologist. 1987;1(4),293-308.

Gürer, B. (2015). The investigation of problem solving skill of the mountaineers in terms of demographic variables. Educational Research and Reviews, 10(11), 1496-1504.

Hardy L, Bell J, Beattie S. A neuropsychological model of mentally tough behavior. Journal of Personality. 2014;82(1), 69-81.

Jagacinski, Carolyn M. Nicholls John G, (1984). "Conceptions of ability and related affects in task involvement and ego involvement", J Educational Psychology, Vol.5, pp. 909-919.

Jones G., Hanton S, Connaughton D. A framework of mental toughness in the 7 world's best performers. The Sport Psychologist. 2007;21:243-264.

Kristiansen, E., Roberts, G. C., & Abrahamsen, F. E. (2008). Achievement involvement and stres coping in elite wrestling. Scandinavian journal of medicine & science in sports, 18(4), 526-538.

Konter, E. Sporda motivasyon. İzmir: Saray Tıp Kitapevleri 2015, s 45.

Kocaeşki, Serdar, (2010). Hentbol Bayan Milli Takımında Zaman Değişimi ve Performansın Grup Sargınlığı, Sportif Kendine Güven, Öz-Yeterlik, Hedef Yönelimi ve Yarışma Kaygısı Üzerine Etkisi, Ankara: Hacettepe Üniversitesi, Sağlık Bilimleri Enstitüsü, Doktora Tezi.

Kuan G, Roy J. Goal profiles, mental toughness, and its influence on performance outcomes among wushu athletes. Journal of Sports Scienve and Medicine. 2007;6:28-33.

Nicholls, A. R., Levy, A. R., Polman, R. C., & Crust, L. (2011). Mental toughness, coping self-efficacy, and coping effectiveness among athletes. International Journal of Sport psychology, 42(6), 513-524.

Nicholls, John G, (1984). "Achievement motivation: Concepts of ability, subjective experience, task choice and performance", Psychological Rev, Vol.91, pp.329-346.

MacKinnon, L. T. (2000). Overtraining effects on immunity and performance in athletes. Immunology and cell biology, 78(5), 502-509.

Maffulli, N., Margiotti, K., Longo, U. G., Loppini, M., Fazio, V. M., & Denaro, V. (2013). The genetics of sports injuries and athletic performance. Muscles, ligaments and tendons journal, 3(3), 173.

Marchant, D. C., Polman, R. C., Clough, P. J., Jackson, J. G., Levy, A. R., & Nicholls, A. R. (2009). Mental toughness: Managerial and age differences. Journal of Managerial Psychology, 24(5), 428-437.

Murcia, Juan Antonio Moreno. Eduardo Cervelló Gimeno. David González-Cutre Coll, (2008). "Relationship among goal orientations, motivational climate and flow in adolescent athletes: differences by gender" The Spanish Journal of Psychology, Vol.11 Num. 1, pp. 181-191.

Potgieter, Rhena. Delport Andhendrık. Steyn, Ben, (2010). "Goal Orientation, Self-Theories And Reactions To Success And Failure İn Competitive Sport", African Journal for Physical, Health Education, Recreation ve Dance, Vol. 16, Num. 4, pp.635



Rugg, C., Kadoor, A., Feeley, B. T., & Pandya, N. K. (2018). The effects of playing multiple high school sports on National Basketball Association players' propensity for injury and athletic performance. The American journal of sports medicine, 46(2), 402-408.

Üngür, Gamze, (2009). Amatör Ve Profesyonel Futbolcularda Hedef Yönelimi Ve Algılanan Motivasyonel İklim Arasındaki İlişki, İzmir: Ege Üniversitesi, Sağlık Bilimleri Enstitüsü Yüksek Lisans Tezi.

Thelwell R, Weston N, Greenlees I. 'Defining and understanding mental toughness within soccer'. Journal of Applied Sport Psychology. 2005;17:326–332.

Toros, Turhan, (2002). "Elit ve Elit Olmayan Erkek Basketbolcularda Hedef Yönelimi, Güdüsel İklim ve Yaşam Doyumunun, Spor Yapma Süresine Bağlı Olarak Değerlendirilmesi", Spor Bilimleri Dergisi, S. 1. ss.24-36.

Toros, Turhan. Ünsal Yetim, (2000). "Elit Bayan Basketbolcularda Hedef Yönelimi Ve Güdüsel Motivasyonel İklimin Yaşam Doyumu İle İlişkisi", Hacettepe Spor Bilimleri Kongresi, Ankara.

Toy, A. B. (2015). Serbest ve Grekoromen Stil Güreşçilerin Hedef Yönelimi ve Yaşam Doyumu İlişkisi (Master's thesis, Hitit Üniversitesi Sosyal Bilimler Enstitüsü).

Uluöz, E. (2016a). Investigation of Sport Injury Patterns in Female Futsal Players. International Journal of Sport Culture and Science, 4(4), 474-488.

Uluöz, E. (2016b). An analysis of the sports injuries occurred in competitions in Men's Volleyball League during five year period (2011-2016). Journal of Human Sciences, 13(3), 5786-5795.

Weinberg RS. Goal-setting and motor performance: A review and critique. In G.C. Roberts (Ed.), Motivation in sport and exercise, Champaign, IL: Human Kinetics;1992./

Weinberg, R. S., & Gould, D. (2015). Foundations *of sport and exercise psychology*.(6. utg.). USA: Human Kinetics.

White, Sally A. Joan L Duda, (1994). "The Relationship Of Gender, Level Of Sport Involment And Participation Motivation To Task And Ego Orienatation", International Journal of Sport Psychology, Vol.25, pp.4-18